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UPCOMING ONLINE BATCHES

06 Oct 2021

08:00 AM to 10:00 AM

LIVE PREMIUM GREEN CARD
BANK-PO & CLERK)

01:00 PM to 03:00 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

03:00 PM to 05:00 PM

LIVE PREMIUM SILVER CARD

(SSG CGL & CHSL)
10.50 AM to 12:30 PM
LIVE CLASS NIELIT CARD
(ccce)

BILINGUAL

/October 2021

13 Oct 2021

10:30 AM to 12:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

05:30 PM to 07:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

20 Oct 2021

03:00 PM to 05:00 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

08:00 AM to 10:00 AM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

01:00 PM to 03:00 PM

LIVE CLASS CTET CARD
(CTET)

BILINGUAL

& www.mahendras.org

27 Oct 2021

08:00 AM to 10:00 AM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

10:30 AM to 12:30 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL
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A. If eith lusion | or Il foll 1.Statements:
. If either conclusion | or Il follows.

<N<D>R;E>Dc<
B. If neither conclusion | nor Il follows. CE\)A NI D I?;E D<W
C. If only conclusion Il follows. Conclusions:

A<D <D
D. If both conclusion | and Il follow. . W>A —
E. If only conclusion | follow. ‘)f\A= "'}

4. Statements: 2. Statement:
A<N<D>R;E>D<W (@ P<O<L<E=S>A
Con ons: Conclusions:
E E7D2>N %4,
L+ (S'j AXO
IH.R<W ll. >P
:p 3. Statement:

M<O<B>I=L>E
Conclusions:
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Nine people M, N, P, Q, R, S, T, V and W are seating equidistance in a row
and all are facing north. Exactly 3 persons sit to the left of R. One person sit
between M and R. P sits third to the right of the M. As many people sit to
the right of P as to the left of S. Only 3 people sit between Q and S. T sits 4
th to the left of the W. N is one of the persons, who sit to the right of V.

AteAfFdT M, N, P, Q, R, S, T, V 3T W t& ufed & AT g w3 § 3l
T FTAG WA I SF3ARFIRFIA R TIMIRRF A=
Th AFTSSTE 1 P, M & S A TR TATH R ST | P F e &8 faaer
AT SHFIF 43 gI QF faFaa 3 aras gl 3iTs. T wH IR a ol
TAT R ASTEI N, V& SRt AN dS afFaar A q v gl
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Nine people M, N, P, Q, R, S, T, V and W are seating equidistance in a row
and all are facing north. Exactly 3 persons sit to the left of R. One person sit
between M and R. P sits third to the right of the M. As many people sit to
the right of P as to the left of S. Only 3 people sit between Q and S. T sits 4
th to the left of the W. N is one of the persons, who sit to the right of V.

/. M KP,;_-_._.
SV TRaAaM Wy F



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

5. Number of persons sitting between N and M

S VTR M W NP . .
Q NI M. F AT 3 et € gea
| ‘ | ‘ ‘ | | | \ .1 B.2 C.3 D.5 E. More than 5

6. Which of the following pair of persons are sitting at the
extreme end?

fArfaf@d & @ afFaa) &1 ST a1 e ifad sk W

o
7 Sand P B.Pand N C.Qand W
D.WandS E.Tand Q

7. Who is sitting 2nd to the right of Q?
Q% ¥ ¥ TITT 9T HiT o1 872
A.M \B C.N D.P E.T
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/

S VTR M W NP 8. Find tth odd one out.
faws T
A.QV B.NQ C.SR JIW E. MP

9. Which of the following is true?
ffaf@a & & «ia a1 @ 87
&S 2 persons sit between Q and W
B\More than 2 persons are left of S
C. None of the option is true

D. T sjs immediate right of R
(. is the second person from the right extreme end.

10. Who is sitting at the right end?
g SR W HieT da1 872
A.J B.B C.O \D P E.Q



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Eight people A, B, C, D, E, F, G and H are seating equidistance around a circle. Some of
them are facing inside and some are facing outside. H is sitting immediate right of F. 3
persons are sitting between F and C. C is sitting third to the left of A. G is sitting
immediate left of A. C and D both face centre. Immediate neighbors of G face different
direction. B is sitting second to the left of E. Both immediate neighbors of E faces same
direction as B. Both immediate neighbors of D face towards centre.

TS SITFT A, B, C, D, E, F, G HH T g & TRI 3T FATT g WSS 81 37/ § FS FI
mmaﬁrm%sﬁ?mmwwaﬁsﬂt%l HFF P e dordl FatcFaas
T I T c AF T I I EIA RIS G, Aﬂ;maﬁﬁa%l Cc IR DT FT
wﬂmaﬁaﬂt%leﬂ:ﬁmﬁmmwfaﬁrﬁanaﬁaﬂt%l B,E& TR
AT W AT E%WW@WWWB#W%W%W%I DF
e TSI &1 7@ g Hr AL
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Eight people A, B, C, D, E, F, G and H are seating equidistance around a circle. Some of
them are facing inside and some are facing outside. H is sitting immediate right of F. 3
persons are sitting between F and C. C is sitting third to the left of A. G is sitting
immediate left of A. C and D both face centre. Immediate neighbors of G face different
direction. B is sitting second to the left of E. Both immediate neighbors of E faces same
direction as B. Both immediate neighbors of D face towards centre. /

C % D C'o (/F@C
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11. Find the odd one out.

faws T
A.D B.C %D.H E. E

12. Who is sitting 3 rd to the left of E?
Ed I § Y T X Sl dor 872
A. F /G C.D D.C E.A

13. Which of the following is not true?
. ST ¥ &I T1 T A8 &2

A. A is sitting second to the left of B.
LB/S’ persons sit between B and G

C. His an immediate neighbour of D
D. A face outside.

E. All are true

Y
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14. Statements:

No dolphins is Latch
All trans are dolphins
No ship is a latch

Conclusions:
At least some dolphins are ships
No dolphin is a ship

\any 1 follows
ZEither 1 or 2 follows
C. Only 2 follows

D. Both 1 and 2 follow
E. Neither 1nor 2 follows

-7
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15. Statements:

All nodes are toys

Only a few statues are nodes
All statues are cases.

uC’oyclusions:
All toys being statues is a possibility
‘%ome nodes are definitely not cases

A. Neither 1 nor 2 follow
B. Either 1 or 2 follows

;./Bo‘ﬂ‘\ 1 and 2 follow
. Only 1 follows

E. Only 2 follows
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A building has eight floors numbered one to eight, in such a manner that the ground floor is
numbered one, the floor above it, numbered two and so on such that the topmost floor is
numbered eight. One of the eight persons, viz, P, Q,R, S, T, U, V and W lives on each floor but
not necessarily in the same order. R lives on third floor. Only two persons live between the
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person
lives between the floors of T and U. T lives above U. Only one person lives between the
floors of R and S. S lives on any floor below the floor of T.

UF SARA A 316 AfSTall HY HEAT UF A TS 3H YFK ¢ o T T U&IT TF §, 30 39T
Y Hirer Y &A1 Y ¥ 31T 58 e TR I ATSrer Y TE&AT 375 ¥ IS ATFAAT F A
U, 31919, P, Q, R, S, T, U, V 3iR W 93 ATSrer IX I@dT & Afhet 3maeas g sd A &
A RIATN AT R EATRIRIRVF T F AT FaarcaFaEa eI W, QF NF FW
A TR EATgI TR U F TN F T Fad T AFT@ATEI T,UF FRIEATEIR S
el & 1T Fdel T ATFT Ear gl 3R S. s, T & da F = ol AT W @gar gl
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A building has eight floors numbered one
to eight, in such a manner that the ground
floor is numbered one, the floor above it,
numbered two and so on such that the
topmost floor is numbered eight. One of
the eight persons, viz, P, Q, R, S, T, U, V and
W lives on each floor but not necessarily in
the same order. R lives on third floor. Only
two persons live between the floors of R
and V. W lives on the floor immediately
above the floor of Q. Only one person lives
between the floors of T and U. T lives
above U. Only one person lives between
the floors of R and S. S lives on any floor
below the floor of T.
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24. Who among the foIIovgging‘Iives‘on the fifth numbered floor?
ffaf@d & O #i9 9ad FATR g dF W @dT 87
A.SB.QC.WD.PE.V

=INIWIASHIONIDAINIO

wnic|r|H|v|<lo|=s

25. Who among the following lives exactly between the floors of

gandS?ﬁmﬁﬁHﬁ#mRaﬁTsa;maﬁﬁw
?

A.UB.PC.VD.TE. W

26. Who among the following lives on the topmost floor?

fmfaf@a # ¥ Fla 7@ I8 #faa w war 2
A.TB.QC.WD.RE.V
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27. Four of the following five are alike in a certain way and hence they
form a group. Which one of the following does not belong to that group?

frafaf@d o & § 97 wF ARTa @@ & o § 3k safav
:apzwmﬁlﬁmﬁﬁaﬁﬁmmwwﬁma
?

A.RB.VC.PD.SE.Q

INIWIAIONID N
(ﬂCZ’—i"U<rOE

28. How many persons live between the floors of Q and U?

Q3 UF Tat & a7 Fas T ®a &2

A. None B. One C. Two D. Three E. Four

it
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

What is the code of ‘good’?

I. ‘energyis good’ is written as ‘763’ and ‘earth is round’ is written as ‘579’.

Il. ‘mistakes are good’ is written as ‘164’ and ‘mistakes are necessary’ is
written as ‘421’.
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not
sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

Among A, B, C, D and E, seated in a straight line; facing North, who sits
exactly in middle of line?

I. Asits second to the left of D. B sits to the right of C.
Il. Dsits in the right of E.E is not sitting on an extreme end.
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

Who among S, D, X, P and R is shortest ?
|.X is shorter than D and equal to P, R is not taller than S and D.
II.P is taller than R and equal to X. D and S is not shorter than X.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

qguestion. How many students are there in class?

I. There are more than 20 but less than 27 students in the class.

Il. There are more than 24 but less than 31 students in the class. When the students are
divided into groups, each group contains five students.
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33. How many such pairs of letters are there in the word "RECOVERED" each of which
has as many letters between them in the word as in the English alphabet?

rsg "RECOVERED" & 37&8RI & W fhast s § oA @ v+ & &9 3d4 &
e’ § g & 3 aufamer &7 &7

OnN®>r
AN W R

E. None of these

it
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Meghna started from Point A, walked 7 m towards the West, took a left turn, walked 2 m and reached
Point C. She, then, took a right turn and walked 4 m to reach Point D. She, then, took a right turn,
walked 2 m before taking a final right turn and walked 3 m before stopping at Point B

Al g AR T qE FA 7, IRaH A AR 7 AT T@h &, 9w Fgeeh @, 2 A
Terelt ¥ 3 Rig c oY wEaeh 1 B, a7 ard s ¥ 3R g paw wdEe F @w 4 e
Tarc ¥1 R, d ard H3dh & HEar &, 3ifaw E e @ wge 2 M} T § 3k Rig B
W T ¥ TES 3 M Torar §

34. How far and in which direction is Point A from Point B?
A. 6 m towards West B. 8 m towards east C. 10 m towards East D. 10 m

towards West E. Cannot be determined

35. If Meghna walks 2 m towards South from Point A and reaches Point E,
which of the following points (including E) would fall in a straight line?
A.A,B B.A,D C.B,C D.C,D E.None of these
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.

fraAET gl gl afFa 17 - v, w, X, v 3R 2 33§ (@t sl w18t & st o o o) silv 3T wsfh
FTHE ST PG IFT2H - F, G, H, 1 3171 33T (AT s 181 T st v ot ) s 31
T3l &1 7@ 0T A 3R ¢ SHAT, & 71 o Y TaTUT A, T UfFd # 38 TS S Ed &l
@ gudl Ui & gEy WEET F AR TN Y, W H a8 & ey e R der ¥ ag Ay A 3R s
Eag F & el @ qE v W AT ¥ F 3R 1 & e draer veh safFa o1 H IR TH G F
freds asit &1 ) 9fFa & fret oft 3ifasr s ww gt dor | g safFa N G Fr AR 3=xq@ e, 2%
P A dT 81 X, 2 FT Aheaq =1 7T &
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any

of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.
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PRITafRe & & FT HE 3 3o &7

i ?
SCiUth H ] = G 36. Who amongst the following faces H:
A.Y B.V C.Z D.W E. X

N%fth Y V Z w X 37. Who amongst the following sits to the immediate left
of the person who sits exactly in the Middle of the row

with south facing people? AFafaf@a & q =ia 39
AfFd & S a1 a1 § A AT AT IR HG FE
¥ it & @y 9fFT & S wew i dor §7

A.l B.H C.1 D.G E.F

38. Who amongst the following sits third to the right of

the person who faces X?mﬁﬁ' Hq T dlF XY
3R I7HT AT F g F Ny T W o1 372
A.G B.F C.J D. | E.H
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based on the given seating arrangement and thus form a

group. Which is the one that does not belong to that

group? ar 31?33? T STITUT & IHTYR W

Ndth Y V 7 W X fArfafEd oo # ¥ IR v AREgd s 9 g
g 3 W UFR UF WA d1d 81 9§ SieT AT § S

:ﬂrm#mﬁaﬁ%?
A.HB.|C.WD.YE. X

Sti”th H ) E @ 13 39. Four of the following five are alike in a certain way

40. Which of the following is true regarding V?

VEH gay # farafaf@a & @ «la a1 a7 82
A. None of the given options is true
B. An immediate neighbor of V faces F
C. X is an immediately neighbor of V
D. W sits to immediate right of V

E. V faces |

.
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